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| . Multiple choice. Choose the letter of the right answer (10 points). 0
1. Choose the sentence that best describes the approximate area below the graph of j(x) : b
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Il. Evaluate the integral using the following values. SHOW THE STEPS OF YOUR PROCEDURE. (5 points each)
4 4 4 4 . 4 e
.[ xdx =17 j xdx =24 I dx =4 0. 14 'etgn « g ede 345K
: ) ’ = ()2 451 + B3I

= 4y +3§-§\'l:(1§

i}

[l@x* +5x+3)ax = _as
2 ©- 20 (*ax = (20312 = 20

4
b. j 20dx = £0 5
Sk c- $Cundy =0
C. J.q)X3dX= 0 . 3
: 4 o Stxax - < = -2
d. L xdx= -3

IV. Procedure. Solve the following problem showing your entire procedure.
1) Approximate the area of a plane regions using left hand, right hand and middle points approximations.

f(x)=9—-x" on [— 3,0] 4 rectangles (20 points)

Area (Left hand) = _14» 3307

= % g
4 %;——- LOEt: 14-33 0" Area (Right hand) = _ 21.0% 42
ax= 3/a Rignt L2 .08 U?
Axz 0-3%

(0-36)€(-3)= 0

(- ¥E (- 22N 212295
0-3S)EC-1.8) = 500
(0.3 (-0-¥)7 6:32
(0.9C) €(0) = @3S



2) Give the graph (remember to shade the corresponding area) whose area is given by the following definite
integral. Then use a geometric formula to evaluate the integral (by finding the area) (15 points each)
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Graph Procedure by geometric formulas
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